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LHETxQl SteElE HR2al 37|= doteldte

char sMum[10] = 10byte

char name[10] = 10byte

int year
= 4byte

]

struct
std* next
= 2byte

struct

h
struct

std {
char sNum[10];
char name[10];
int year;

struct std* next ;

std s;

= PENHS o H22| 37| : 10byte + 10byte + 4byte + 2byte = 26byte
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int a[4][10] ;

w C ZEJHMo|ER M =AME ™o},

=2 Jo

@ a[2][8]2] FZ : 10000 + (2*10 + 8)*4byte = 10000 + 28*4byte = 10112
@ a[2][8]2 29EH ™| AO0|LCt,
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C ZTZIOHOIA Ch2at Z0| HIE bE MOASIACL HIE b7l YHE AXFLAE
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o
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int b[3][4][10] ;

- C ZEJMo|oE HLM =AME ™3I}

@ b[1][21(812 F£ : 10000 + (1*4*10 + 2*10 + 8)*4byte = 10000 + 68*4byte = 10272
@ b[1][2][8]2 69| RA0|C},
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Che CHA S O1AHE HIE 2F @2%H HiE of XESts d9E YA 2.

=
A(X) = 12x197 + 8x%2 — 5x%8 + 72x2
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@ pre.link—ald.link;
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T old—prelink;

3 returnMode(old);
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@ 23 £417} ABCDZ HSHL MRS 12 AS0 push LT pop RS +UcHR
=S kel |:|- S

A pop G4t ALtz Btetk|s= X E E=Hot
) push(A), push(B), pop(), pop(), push(C), push(D), pop(), pop() = BADC
Of) push(A), push(B), push(C), push(D), pop(), pop(), pop(), pop() = DCBA
) push(A), pop(), push(B), pop(), push(C), pop(), push(D), pop() = ABCD
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% ChS &9 BE7|M 2 [€12lE 5-4100 maty =9 B7[Aoz #atsiolet).
(9-(4/2+1))(5*2-2)
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D.259.
ChE =9 ®#7|A2 (€125 5-510 a2t AASHO 2}
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3542 2% +

3542 / - * & 2 x +
et [ [ [ [ T [ [

popQ: popQ: pop(: popQ: pop(Q: pop0: push(6);  popQ: popQ:  pop(: pop(:

4/2=2 5-2=3 3*3=0 push(2); 6%2=12 12+9=21
push(2); push(3); push(g); push(12); push(21);
2
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3 3 3 9 9 9 21




67%}. Self Test

©
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enQueue(Q1, A),

enQueue(Q1, B),

= =2 o

enQueue(Q1, O),

Stof et
deQueue(Q1),

enQueue(Q1, D),

deQueue(Q1), deQueue(Q1), enQueue(Q1, E)
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n4 -> right = n5;

n5 -> right = n3;

n6 -> right = n7;

*n7 = makeRootNode('D’, NULL, NULL, 1);
~47H C[OA 7-3]12F S

n4 -> right = n5;
n5 -> right = n2;
n6 -> right = n7;
n7 -> right = n3;
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Dp.516
mEo] 9x2 AU Pao] upxa Pxz A5,
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pivot = end;
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Dp.584
@ %0 £ 49 A0 M pY Fa
Z17r& {45, 9, 10, 96, 25}

=50

i

21

h(45) = 45 mod 5 = 0 = W7109] &500] A%
s2lo | @45 @10 h(9) =9 mod 5 = 4 == ®]714°] 200 A&t
1] @96 (525 h(10) = 10 mod 5 = 0 = B{7109] &£F10] XAt
5 h(96) = 96 mod 5 = 1 == ¥7119] &200] A%
5 h(25)=25mod 5 =0 == ¥7100] 8l &%o] gloog, 1 og 255
SRR o8 ZAMSTE HZl19] &5 10] H|oj9lon g XAFFir.
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